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Mote: Attempl any four question.

Q.1 What is cost accounting? Explain the advaniages and limitations of cost accouniing.
115}
Q.2 Explain the methods and technigues of cost accounting, [15]

€3.3 &) From the following informaiion caleulate: (1) Economic Order Quantity, (2) Ordering

Level, (3 Minimum Level, (4) Maximum Level, (5) Average Stock Level [0}
Annual Consumption 2,500 units
Per unit cosi ks 10
Ordering cost Rs.200 per order
Carrying cost : 10% of cost
Average consumption per week 45 units
Maximum consumpﬁon per week 60 units
Ordering fim 2 to 3 weeks
) Explain the term materials and types of materials. . Ry

.4 What is labour turnover, Explain the reasons and remedies of labour turnover. What [1 g:(
ate the methods of computation of wages.

QS The following figures are taken [rom the accounts of a manufacturing concern for the
month of Ianuary, 2022.Tt has three production department AB and C.It has twe
service department X and Y. [i5]
Expenses of the Month:

Power and light Z.20,000  Rentand Raies T, 12,000

Indirect Store Expenses T, 8,000 Electricity 3. 4,000

{.abour Welfare Expenses X, 6,000 Depreciation <. 18,600

General Indirect Expense 3. 3,600 Repairs Z. 3,600

Particulars i A B C X Y

Direct wages (X.) 14,000 12,006 1 10,000 2,000 2,000
Direet Material (T.) 6,000 5,000 4,000 3,000 2,000
Mo. of Waorkers 20 15 15 5 51
Electricity (KW) 800 6500 ¢ 600 200 306
Lights Points(No} 10 15 15 5 5
Cost of Machine (Z.) 1,00,000 | 60,000 40,000 | 20,000 20,000 |
Floor Space{Sy. ) : £0 60 | 6O 20 20

From the above data make apporticument of expenses among department on the
suiiable basis and show the final distribution of service department overheads te

production department in the ratio given below:
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Departrnent X 40% : 35% 25%
Depariment Y | 30% A40% 30% 1
Explain the classification overheads and its apportionment. 157
Why the profit as per cost and financial accounts differs from each other. t15]

A manufactering company provided the following details for 7,500 unit of production " 2¢ 7

auring the year ended o 31% march 2021,

Particnlars At (K.}
Maierial consumed 2,70,000
Direct wages 1,80,000
Lighiing of factory 16,500
Labour welfare expenses 15,000
Power and fuel 36,000
Office salaries 30,000
Selling expenses 52,500
Factory indirect wages 45,000
Plant repairs and depreciation 15,000

All units were sold at a price of T. 100 per unit. Estimated for next year:

1. Selling price per unit will be X. 98 per unit.

2. Direct material and labour cost will increase by 10%.

3. Production and sales for next year will be 15,000 units.

Prepare:

1) Cost sheet for the year ended on 31 march 2021.

2} Estimated cost sheet for the year ended on 31% march 2022, Assuming the 15,000
units will be produced and sold and factory overheads will be recovered as a
percentage of direct wages. Administrative overheads and selling overheads will

be recovered as a percentage of factory cost.



GEAT W,
SARDAR PATEL UNIVERSITY
B.Com {{f Semester _
Saturday, 24™ September, 2022
12:30 P.M., to 02:30 P.M.
Fundamentals of Cost Accounting -UBS3CCOMO2 :
Maximem Marks: 60

Note: Attempt any four question,
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